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Show all necessary steps for full marks. 

Question 1: (5 points):  (Textbook 1.1 exercise 19):  Solve  ( )1 103 2
14 10

xx +
− =  

Solution:   ( )1 103 2
2 2 5)7( ) (

xx +
− =   ⇒   (7 ( )2 ) 5LCD =  

Multiply both sides of the equation by (7 ( )2 ) 5LCD = : 
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Question 2: (5 points): (1.2 Exercise 12, page 4):   The length of a rectangular label is 2.5 
cm less than twice the width. The perimeter is 40.6 cm. Find the width. 
Solution: 

 
Q 3: (5 points) (1.4 Exercise 47):  
Solve the equation by completing the square. 24 8 7x x− + =  
Solution: 
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Question 4: (5 points): (1.6 Example 9):  Solve  4 212 11 2 0x x− + = . 
Solution:  4 212 11 2 0x x− + =  
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Another Method: 

 
 


